2o
A. T\c\\C\/) the correct omswer
120 Tis sbar %s o
(8> | Conshellotion
AN rIp
WA 7

<D &ﬂd{&&%

1Y s dnmedoflhe

Q_:§L>ﬁ_£jechrm L. s
<ELQﬂﬂ5 ————

‘ i

RS e

< | Ne e

\




—
= -
gl el

%Lm{\ju‘e | S
i angest _and
ke iy L =
i S «'iim - e
e




oo | . A ‘
19 | Deohe e

T

' ] F ! 5
62 “’\IS can }Je O(tlve;r\m*ﬂant ar ex.lqnctﬁ

<o || tsnami

b2 [ Sun

<c> [MValeann o~
48> | Plonet




g 1‘," M reur Y

w \Dnﬁcma&lr or \;oﬂ
| s
ﬂa%umtgoc\:ﬁ Le
of the eMLL
PRAFSE

. \ \/
J‘Cemo e revoL.«\:lon af {Le \ /K“ “\e m\DW Loy
| \ae_;

]mar)oja J_.Leunci H’\e SuNge
A A‘
Pnrﬁkj_m—





{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

